D1vISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH A REMAINDER fie o
631 1319 +6 = 616) —24060 + 3 =
632) 29302 + 3 = 61 —35405 + (—=9) =
633 —6669 + (—3) = 615) —8843 + 1 =
631 —89023 + 10 = 619) —8904 + 2 =
635 —9683 + (—2) = 650) —7422 + (—1) =
636) 4885 =1 = 651 —8065 =1 =
637 —80329 + 10 = 652) —8350 +9 =

638) —47360 =7 =

639) 13781 + (—10) =
610) 25518 + (—=3) =
s —22516 + (—9) =
b 37424+ 4 =

613 —27812 =+ (—4) =
s 8101 =3 =

o) 2079 + 5 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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22824 = (—4) =
23384 = (—3) =
—47939 + 7 =
20815 = 6 =

30061 = (—10) =

4394 + (—1) =
—22070 + 9 =
033 + 9 =
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